DWG. NO. SIZE| REV. | SH.
7 6 ‘ 5 * 4 3 ‘ 2501504 | 1 | 1 1
I TEM PART NO REQD DESCRIPTION MATERTAL
10 nnXnnn \ THIRD LINE TITLE
9 250155 4 Beampipe Support Longeron Assembly
8 250154 \ Beampipe Support Cruciform, Forward Position
1 250153 \ Beampipe Support Cruciform, Middle Position
6 250152 \ Beampipe Support Cruciform, Barrel End
§) 250051 ¢ Position Mechanism
4 250040 ¢ Tension Mechanism
3 4 Socket Head Coap Screw M6-1 by 30MM LG Steel
4 24 Socket Head Cop Screw M3-.5 X 8MM LG Steel
‘ | 4 Flat Washer M6 Steel

ot DETATL A e 0

- ASSEMBLY NOTE:

[ tACH LONGERON ASSY (ITeM 9) IS ATTACHED
3Y A PAIR OF M3-.0 X MM LG SCREWS 10O
cACH CRUCTFORM SUPPORT CITTEMS 6-8)

2. AS SHOWN IN DeTAIL A, AN ADDITIONAL
ATTACHMENT 1S MADE WITH AN Mo-[ X 30 MM LG
SCREW AND M6 WASHER CITEMS | AND 3) THRU
THE FORWARD CRUCTFORM TO THE STRUT
LONGERON MOUNT BUSHING (250180.PRT)

NOTE: QITY |

SR
U)UNLESS OTHERWISE SPECIFIED AmSHOP ORDERS DNAOTE ERNEST ORLANDO LAWRENCE /3\|
g [MHE 020 [FRAC £ 164 |y s | iy - BERKELEY NATIONAL LABORATORY “—=_ ﬂ
S (000 £ 010 [ Angles & 0.50° |5 € Anderssen - UNITVERSITY OF CALIFORNIA - BERKELEY
DETATL A S| 00K £ 0.05 | FINISH 128/ | Teeanic ATLAS PIXEL DETECTOR
SCALE 7 000 DO NOT SCALE PRINT |ufship TAG BEAM PIPE AND SERVICES SUPPORT
. THREADS ARE CLASS 2 i Main Assembly Side A
e CHAMFER ENDS OF ALL SCREW TREADS 30° EEEA)EECT MICROF | LMED: DWG. TYPE SHOWN ON SCALE: O . 2 50 SCDA(L)E PNR?NTTS 2
CUT ROUND, 1.5 THREAD RELIEF ON NACHINED THREADS [Ding -
U6 D Uken DATE 05-Sep-03 ASSEM | 250XXX SHEET 1 OF 2
?E%CEEEEE;S'OV‘ELEA&L?:TEQCE‘FEES?OSRCKM EW N Har tman DATE PATENT CLEAR: | DESIGN ACCT. NO. | CATEGORY CODE [DWG. NO. size| rev. [
REV|DWG |CHK |ZONE | DATE CHANGE $ N ACCORDMCE WITH ASHE Y14 50 4 846 | MR L Anderssen OATE Jerene Laprooo | 25019504 | 1

7 6 ; 4 . 3 ZEEREEEEEEEEEE S



DWG. NO.

SIZE| REV.

SH.
8 7 6 * 3 ‘ 2501504 | 1 | 2 ‘ 1
cO (- (a>) (- (-
O — [qN] O [0 ®) .
- ~ 3 — o <
o o o ad — O
250051 . ASM
POSTTION MECHANITSM
R6E. 650
D Mount Flange
Ak — 2
= N1 I Il
4& ) B |
153.000 | 1976
L{m W i = 47
[l
5
CH
= o, =
= ] [H L1 L |
R66.650 s 2
D Bellows Convolufions
RI11.500
- Cable Position
< [ 8541
O = o o)
[€S RS RG]
250040 . ASM o o
TENSTON MECHANTSM — o o
oy O
o famy
“— T
o °
[
RS
S
SER
U)UNLESS OTHERWISE SPECIFIED AmSHOP ORDIN%RS DNAOTE ERNEST ORLANDO LAWRENCE /3\|
o [hHE 08 JFRAC £ V64 | e | [isy - BERKELEY NATIONAL LABORATORY “—=_ ﬂ
S (000 £ 010 [ Angles & 0.50° |5 € Anderssen - UNITVERSITY OF CALIFORNIA - BERKELEY
S | XK £ 0.05 | FINISH 133/50 | Taatur ATLAS PIXEL DETECTOR
DO NOT SCALE PRINT |ufthop 146 BEAM PIPE AND SERVICES SUPPORT
THREADS ARE CLASS 2 i - Main Assembly Side A -
CHANFER ENDS OF ALL SCREW TREADS 3° PROJECT MICROF | LMED: DWG. TYPE SHOWN ON seate: 0200 o B
CUT ROUND, 1.5 THREAD RELIEF ON MACHINED THREADS Dy — -
BREAK EDGES 016 NAX. ON MACHINED WORK gy D Uker HE 1470t 0 ASSEM | 20o0RXX SHEET 2 OF 2 2
N Har tman DATE PATENT CLEAR: | DESION ACCT. MO caTGoRY coDE | DWG. NO. size] Rev. [
REMOVE BURRS, WELD SPLATTER & LOOSE SCALE BY Refer 1o -
REV|DWG|CHK |IONE | DATE CHANGES IN ACCORDANCE WITH ASNE Y1450 & 45 1 APRE Anderssen DATE wo 10 oraer | AP 1000 | 2501504 1 ¢
r - _ _ _ _1- - — Dwg. File. 250150 Model File. 250150 |
8 7 6 | 3 ? |

0 000



